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2.1 means Exercise 1 from Chapter 2.  This is a moderately substantial assignment.
Key:
	(No symbol) 	Not required to be turned in.  Just be sure that you can do it.
	(t -7) 	To be turned in and graded, worth 7 points.
1.  (t-9) 8.7a.  I recommend doing it by construction, an algorithm that takes as input a DFSM 
M = (K, , , s, A) that accepts L, and produces a DFSM M′ = (K,  , , s, A) that accepts pref(L).
Describe how to get from M to M'
2. 8.1acegklptu  (additional practice problems)
3. (t-3) 8.1b
4. (t-3) 8.1d
5. (t-3) 8.1h
6. (t-3) 8.1i
7. (t-3) 8.1j
8. (t-3) 8.1n
9. 8.2ac
10. 8.3
11. (t-6) 8.4a
12. 8.4b
13. 8.7
14. 8.8
15. (t-3-6) 8.8 de
16. (t-9) 8.9  This is a difficult  problem.  Begin thinking about it a few days before it is due.


